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AE = ?

𝐴𝐶 = 10 𝑘𝑚

1.  AM et MC ?

𝜶 + 𝜺 + ෣𝑨𝑴𝑪 = 𝟏𝟖𝟎°
෣𝑨𝑴𝑪 = 𝟏𝟖𝟎° − 𝟐𝟐° − 𝟑𝟒° ෣𝑨𝑴𝑪 = 𝟏𝟐𝟒°

Dans le triangle AMC :

Loi des sinus :

𝑨𝑴

𝐬𝐢𝐧𝜺
=

𝑨𝑪

𝐬𝐢𝐧 ෣𝑨𝑴𝑪
𝑨𝑴 =

𝑨𝑪

𝒔𝒊𝒏 ෣𝑨𝑴𝑪
× 𝐬𝐢𝐧𝜺

𝑨𝑴 =
𝟏𝟎, 𝟎

𝐬𝐢𝐧𝟏𝟐𝟒
× 𝐬𝐢𝐧𝟑𝟒 𝑨𝑴 = 𝟔, 𝟕 𝒌𝒎

𝑴𝑪

𝐬𝐢𝐧𝜶
=

𝑨𝑪

𝐬𝐢𝐧 ෣𝑨𝑴𝑪
𝑴𝑪 =

𝑨𝑪

𝒔𝒊𝒏 ෣𝑨𝑴𝑪
× 𝐬𝐢𝐧𝜶

𝑴𝑪 =
𝟏𝟎, 𝟎

𝐬𝐢𝐧𝟏𝟐𝟒
× sin 𝟐𝟐 𝑴𝑪 = 𝟒, 𝟓 𝒌𝒎

2. Dans le triangle  CMN :

෣𝑵𝑴𝑪 = 𝟏𝟖𝟎° − ෣𝑨𝑴𝑵 = 𝟏𝟖𝟎° − 𝟏𝟐𝟒 ° = 𝟓𝟔°

෣𝑵𝑴𝑪+ ෣𝑴𝑵𝑪+ 𝝃 = 𝟏𝟖𝟎°
෣𝑴𝑵𝑪 = 𝟏𝟖𝟎° − ෣𝑵𝑴𝑪− 𝝃 = 𝟏𝟖𝟎° − 𝟓𝟔° − 𝟒𝟕° = 𝟕𝟕°

3. Loi des sinus :

𝑴𝑵

𝐬𝐢𝐧𝝃
=

𝑴𝑪

𝐬𝐢𝐧 ෣𝑴𝑵𝑪
𝑴𝑵 =

𝑴𝑪

𝒔𝒊𝒏 ෣𝑴𝑵𝑪
× 𝐬𝐢𝐧𝝃

𝑴𝑵 =
𝟒, 𝟓

𝐬𝐢𝐧𝟕𝟕
× 𝐬𝐢𝐧𝟒𝟕 𝑴𝑵 = 𝟑, 𝟒 𝒌𝒎

𝑪𝑵

𝐬𝐢𝐧 ෣𝑵𝑴𝑪
=

𝑴𝑪

𝐬𝐢𝐧 ෣𝑴𝑵𝑪
𝑪𝑵 =

𝑴𝑪

𝒔𝒊𝒏 ෣𝑴𝑵𝑪
× 𝐬𝐢𝐧 ෣𝑵𝑴𝑪

𝑪𝑵 =
𝟒, 𝟓

𝐬𝐢𝐧𝟕𝟕
× 𝐬𝐢𝐧𝟓𝟔° 𝑪𝑵 = 𝟑, 𝟖 𝒌𝒎


